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1. Definition:
It is the inflexibility of the ending of the word, so no effecter can change it. The

word is called ‘4.u2’ then.

2. Divisions

A) ¢S (Intrinsic by coinage); such as the past tense and command
verb, prepositions, pronouns, demonstrative nouns and ‘J s <’

B) ‘@ adPs which happens in the ‘—_=<" words that become ‘s’ in
the sentence; such as the ‘g bz’ verb that gets the emphasis ‘0’ at the end.

. The signs of s\’

L C0sSw’, such as ‘Gale’) X and ‘ale).

¢dasd guch as ‘Gale)’, ‘a8 and Cul’.

 “daz’, such as *lsale’, ‘Cua’ and

. 6 £ in nouns and prepositions; such as ‘uwl” and the ‘=’ of “ >’

. dadll oY Qids’) only in the ‘Ji=e’ command verb; such as ‘L)’
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L f0sill a3’ in the command verb of seeghah 8,9,10,11.
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1. Definition

“4laa’ cosists of “2iws” and “4dl 3uwe’ and they are either verb and subject or “Ixiw’

and its predicate.

2. Divisions
With regard to the beginning of the sentence, it is of two types:
A) ‘4l (verbal), which starts by a verb.

Example: “Qusdl mn’s 5Ll i (¥ &d yi 57



B) “dau) (equational), which starts by a noun.
Example: “lcwdll elan) 4l yhadll {5 L) Glall &l 7

cile g8 yall

1. “4d=d which is the ‘¢ Jl=ae’ verb that is free from effecters.
Example: “5sled Uy ade 80 &)U Bl Ga 33V SR &) UL V) 28581 445 L5

2. “hsam’:

o ‘Jel&

o ‘Jeldll il
o ¢liise’

o ¢ i’

° ‘@a\‘gﬂ\uba.)ujwhi’

Refer to page 107



